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REVISE THIS
TOPIC
Solve X2+ 7x+10<0 [2 marks]

(x+2(1+S)<0 V. x=-L
xX=-5

Answer —S< x < —"L

Solve X271 9x+20>0 [2 marks]

(x-SYx-4)>0 Cv. x=5

o= U

Answer I<L" Or ,x,>S

Solve X2 +2xi 15<0 [2 marks]

(x +8)(x-3) <0 CV. A:-§

-S<¢<x<'s

Answer
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4 Solve X2+ X1 12>0 [2 marks]

(2 +H0-D>0  cv. x=-k
1= 2

Answer I <—l{— e( x’> 3

5 Solve X2i2xi24 O 0 [2 marks]

(-6 x+4)S O cu x= 6%

4 & x<6

6 Solve x27 17x+ 30 O O [2 marks]

Answer

(x-2)1-15) 70 Cy. x=2

A= IS

XS L or X215

Answer

7 Solve 2125 O 0 [2 marks]

(x+s 1-8)<0  cy. x=-5
A=g

Answer —S \< i é 5
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Solve 2xX27 7xi1 15>0 [3 marks]

(224D)0G-N>0 (Cuy x=-%
x=S

Answer I‘ <-% b’r 175

Solve 3x2+17xi6 O O [3 marks]
\

(2= 1Y 46)¢0  Cwv. x= 4

A=-0

Answer _-é S 1’ g \/3

Solve 5x27 13x+ 6 O O [3 marks]
(S-2 x-2)70 (Cu.a->¢
X= 2

Answer X< % V.6 A= L
Solve 2x2 + 15x+24 <37 2x [4 marks]
23[,7’-{4/‘}1/ +21< 0O
(DA AP O V. x=-%
X= -
~I< xec-%

Turn over 3

Answer
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12(a) Solve X2i 2xi 8<0 [2 marks]
(30’[0(1, +?,) <O C.v. x= W
x: 1

Answer -2< -I/ ( ‘+

12 (b) Show the solution X217 2x7 8 <0  on the number line below. [1 mark]

8 5 4 3 2 1 06 1 2 3 a4 5 & 7 0%
13(a) Solve Xi7x+ 10 O O [2 marks]
(x~-sXx-2)<O CN. (=5
X =2
Answer 2 é 'JC/ S 5
13 (b) Show the solution X271 7x+ 10 O O on the [Imakiber |
I T T T T T T T T T T T T I I : X

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/




